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QUESTION 1

You configure one OTBI using Project Cross Subject Area Analysis Real Time. You notice that all measures (Budget,
Forecast, Cost, Commitments, Revenue, and Invoice) are not available for Bill-To- Customer and Contract and Contract
Line dimensions. Identify the reason for this behavior. (Choose the best answer.) 

A. The Bill-To-Customer dimension applies only to Invoice measures, but the Contract and Contract Line dimensions do
not apply to Revenue and Invoice measures. 

B. The Bill-To-Customer dimension applies only to Revenue and Invoice measures. 

C. The Contract and Contract Line dimensions apply only to Invoice measures. 

D. The Bill-To-Customer dimension applies to Invoice measures, and the Contract and Contract Line dimensions apply
to Revenue and Invoice measures. 

E. The Bill-To-Customer dimension does not apply to Invoice measures, but the Contract and Contract Line dimensions
apply only to Revenue and Invoice measures. 

Correct Answer: D 

Ref:https://docs.oracle.com/en/cloud/saas/project-portfolio-
management/19a/faopm/subjectareas.html#Projects__Cross_Subject_Area_Analysis__Real_Time_S A_20 

Analyze real-time information on project performance, including budgets, forecasts, costs, commitments, revenue, and
invoices. 

This subject area analysis allows cross subject area analysis between Funding, Invoices, Revenue, Budget, forecasts,
Costs areas. 

 

QUESTION 2

What are three configuration items that you need to set up by using the Project Organizations functional area in Project
Financial Management configurations? (Choose three.) 

A. Manage Project Unit Organizations 

B. Mange Business Unit 

C. Manage Project Organization Classifications 

D. Mange Project Types 

E. Manage Project Unit Options 

Correct Answer: ACE 

Reference https://docs.oracle.com/en/cloud/saas/project-portfolio- management/19b/oapfm/define-project-
organizations.html#OAPFM3094543 Topic - Manage Project Unit Organizations 

 

QUESTION 3
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Your company uses an accounting calendar with periods that are identical to calendar months. A contract resource has
been identified to work for six months on an accounting close cycle project. The resource is planned to start with 10
days 

left in the first period and to end 20 days into the last period. For the remaining periods, the resource must be loaded on
all working days of the month. You are required to distribute the budget, forecast, and planning amounts across periods 

based on the task duration. 

Which predefined spread curve must be used to meet this requirement? (Choose the best answer.) 

A. Daily Spread Basis 

B. Back Loaded 

C. Bell Curve 

D. S-Curve 

E. Even 

Correct Answer: A 

Ref: https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19a/oapfm/project- control-configuration-
manage-spread-curves.html#OAPFM79760 Predefined Spread Curves Name Description Dist. Factors 

Even Linear distribution of financial or project plan values across periods. 10-10-10-10- 10-10-10-1010-10 Prorated
Linear distribution of financial or project plan values across periods, with an exception of 10-10-10-10- Even the first
period and last period in the financial plan. Financial or project plan values for 10-10-10-10- the first period and last
period are prorated based on the number of days in the period. 10-10 Back Back-loaded distribution of financial or
project plan values across periods. Assigned 0-5-10-15-20- Loaded amounts increase over succeeding periods.
25-30-35-40Front Front-loaded distribution of financial or project plan values across periods. Assigned 45-40-35-30-
Loaded amounts decrease over succeeding periods. 25-20-15-10- 5-0 S Curve S-shaped distribution of financial or
project plan values across periods. 18-10-8-10- 15-17-18-1715-8 Bell Curve Bell-shaped distribution of financial or
project plan values across periods. Assignment of 0-4-10-12-14- plan values is highest in the middle periods.
12-10-4-0-0 Daily Spread is based upon the number of days in each financial period throughout the None Spread
duration of the task assignment. Amounts are proportionally distributed throughout all Analysis periods for the duration
of the task assignment 

 

QUESTION 4

Identify two attributes for which you can enter budgets that will be considered for Budgetary Controls in Project Portfolio
Management. (Choose two.) 

A. project 

B. expenditure item 

C. project classification 

D. project plan type 

E. resource 

Correct Answer: AE 
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Reference https://docs.oracle.com/cloud/latest/projectcs_gs/OAPJF/OAPJF1121937.htm#OAPJF1121937 

 

QUESTION 5

Your client uses Resource Breakdown Structures (RBS) and Resource Mapping to associate amounts to resources.
After making some changes to the resources at project level, forecasts are regenerated. After reviewing the cost
amounts associated with the resources, you suspect that the cost association does not match your client\\'s
expectations. Identify two valid rules based on which cost association works. (Choose two.) 

A. If one branch contains a user-defined resource type, precedence is given to the branch that contains a user-defined
resource type. 

B. If a transaction maps to more than one level, Oracle PPM Cloud sums the precedence numbers for all resource type
in the branch and gives precedence to the resource element in the branch with the highest sum. 

C. If there is only one level in RBS to which the transaction maps, the cost amounts are mapped to that level. 

D. If the sum of precedence numbers is the same for more than one branch, precedence is given to the branch with the
lowest number at the lowest level. 

Correct Answer: CD 

Reference https://docs.oracle.com/cd/E37583_01/doc.1116/e22598/F458900AN13D82.htm How Resource Mapping Is
Calculated 

You can track the cost impact of every resource that has been assigned to a project task and use the resource
breakdown structure to view the breakdown of these costs. Oracle Fusion Projects associates the costs of the resources
used for 

tasks with branches and levels in the resource breakdown structure. The process for determining the correct association
is managed by rules of precedence. 

Oracle Fusion Projects uses the following rules to associate cost amounts with resources: 

Select the lowest level in the resource breakdown structure to which a transaction can map. If there is only one level to
which the transaction maps, the cost amounts are mapped to that level. If the transaction maps to more than one level, 

Oracle Fusion Projects sums the precedence numbers for all resource types in the branch and gives precedence to the
resource element in the branch with the lowest sum. 

If more than one branch has the lowest precedence number at the lower level, the application uses the precedence
number of the next level up. 

If the sum of precedence numbers is the same for more than one branch, precedence is given to the branch with the
lowest number at the lowest level. 

If one branch contains a user-defined resource type, precedence is given to the branch that does not contain a user-
defined resource type. 

Note Oracle Fusion Projects gives more precedence to a lower precedence number. For example, a resource element
with a precedence number of 1 is given precedence over a resource element with a precedence number of 10. 
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